A Normal Overweight Obese
50 33| 127
= 53 Do you think
S 62 your weight is:
5 60 7 77 67| O Too low
g_ 9 [|gg | |2° B3, O Good
09_ 40 7 O Little too high
42 O Largely too high
20 ~ 33 34
23 28
12 16
O 5 T 2 T T T 4 T = T T T 1
L I H L I H L I H
Income
B Normal Overweight Obese
100 O =
18 (|19
33
= 80 52 40 Do you think
S 62 your weight is:
S 60 - g0 | |78 44 | 144 O Too low
=] 84
5 0O Good
S 40 , >0 O Little too high
o 42 > O Largely too high
20 38| [37||38
14| |17 17
10
O T 2 T T T 6 T 7 T T T T T 1
L I H L I H L I H

Income





